[£ C == SIE
EYF5 | s x| 1
FURFINI—IVE | ZRE— 2| 3 2

“U1 3zE0MD BEE B 4|4 x| 6
[#yo41v5> |mMm= | 580 |c|c| 3|5 3
W JOMPAT—I | KBSZ 56.2 C C 5 2 12
5474129y |mm=a| 505 |[DID| 6 | 6 #
4 EeEzIL IO 45.5 E E 7 7
S)ovar— |EmesEx | 437 | E| E | 10] 8 13
CENI(TULAN-L EREZE | 429 F | F |8 |09 10
7 |A-n1os—r |mEwxs | 428 | F | F |11 11
11 v VA" SHE 42.1 F F 9 |13
12 FA=ZIZv31 {EEFZA 40.8 F F |12 | 12 11
13 nEiP 13| 10 9
I
= 1 ¥250 E 1-3-6 ¥1,250
EE 1E 1-6 ¥560 E 1-6-3 ¥4,580




B
I

T

1

1

]

]

.
iy
e
|
m
1]
Ly

1 NAIWL—> o L —y

2 | 7 |914APU-T HREA 1 | 2 *

3 N MY—A—F1> | KBS 649 (B B |3 |1

4 P TPAARR | (N C | C | 5| 6 12
5 AUNVIYAIR |BEREAX| 51.1 | D D | 6 | 7 8
6 kv €[5V M. =% 509 |D|D | 4| 4 6
7 J7o59A FEFIE= | 475 | E | E | 8| 5 * | 4
8 FiuA-45 =HE 455 | E| F | 7 |8 | » | » |11
9 | 1 |[d—F«4PYJybd |EB5—B| 454 | F | F | 9 |10 % 9
10 NIIAITAD | TFHF 441 | F | F |11]| 9 1
11 Y7 J)JVZFA |FHEAS | 42.2 F| F |10 12 7 4
12 AL>TYR EHES | 41.7 | F | F |13 11 13
13 N IFIRA 40.1 12 | 13 10
14 | 8 [JVAINAO— Jm 14 14
Ih=E

=i 3 3EE 3-10-14 ¥5,190

EE 3-10 3EH 3-10-14 ¥89,670




B
I

T

1

1

]

]

.
iy
e
|
-
1]
Ly

1 | 8 (74¥0—-Y TRl 2 | 4 6
2 N>THA R iol= 7 N —— % | 3
3 RT3 &= B|B|3 |2 2
4 EYRIVL A M. 558 Cc|C |43 |* 1
5 SULR—T ffRXE| 506 | D | D | 6|6 # |Hik
6 N1 A7—h ERE 50.0 N 5 |5 * | 11
7 B JYRE—R TEO#E | 464 | E | E | 7 | 8
8 P R.%J7 | 457 | E | E| 9 | 7
E J1UE—R BEHE=E 45.2 | F | E | 8 |10
10| 1 |OMTFI-Z SER 43.2 | F | F |10]| 9 10
11 DUyF— FH* 423 | F | F |12 11 12
12 NMJIS—2 Ea% F 11 | 12 13
13 R I IN—2 Hhix% 14 | 14
14 | S|\ PyFR—YI HRIE= 13| 13
Ih=E
=i 13 ¥490 3-9-13 ¥950
E5& 9-13 ¥1,400 13-9-3 ¥9,540




T T
L1L]

Il
l'l-

1 EvIN> T — ERE 3| 4 2
2 A—=IK—2J—-), |R. 97 | 60.3 & | g % | 8
3 PAATIIY | 598 | B| B |1 | 2 1
4 | 6 |HI739Y XHSEZ2| 563 |C | C| 4| 3 4
5 L—9hk—-UZR il 516 |D| D | 6| 6 9
6 E—IARLE 88A8EX| 51.0 |D|D | 5|5 * | 5
7 SANIOV7T47 |B&IRIE | 504 | D D | 7 | 8 3
8 1FETHY BRE 46.0 | E E | 8| 7 * | 7
g NI Ea% F 10| 9 6
10 PYR TZEF— 9 |11 12
11| 5 [¥VAT—Y i#E)igR 11 | 10 11
12| 1 [2x509>  |EomHS | 12 | 12 10
Ih=E

12 ¥420 [E3EL;E ¥9,360

9-12 ¥1,360 [etL:] ¥35,240




B
I

T

1

1

]

]

.
iy
e
|
-
1]
Ly

1 D Bavly! KEHSZ 1 * | 14
2 Pl Y1-UNFI54 | FHE 58.8 34| % | |10
3 7139597 fAFTEE | 56.9 | B | C 3 1
4 | 1 |F=TM1IV1VF BHE 5450 €C | € 10| 9 5
5 RADTILH sl N 508 |D|D | 5| 8 4
6 NNAJ74 o 50.7 R4 2 # | 3
7 D T-WRIAYTY |EEER | 504 |D | D | 7 | 5 5
8 BYINOTAY MB+fEa | 495 | E | E | 6 | 7 | * 6
9 RYIN— =R=EAN| 469 | E | E | 8| 6 2
10| 7 |[1)\YILAIN\— M. = | 46.0 | F | F |14 | 10 11
11 =FI)SFU7 aNEX| 444 | F| F | 9 |12 7
12| 8 (Y7471 BERE 427 | F | F |12 11 12
13 ARTM\—W e 14 8
EE:H FAB—U— 13 13
Ih=E

=i 13 3-5-13 ¥7,400

E5& 5-13 13-5-3 ¥31,060




—
|
1
L
L)
i
ci
11
||
Ml
—

1 204 HREA 2 |1 wo| 2
2 O4VIIEYT | AKX | 65.5 1] 2 1
3 NARNIA-UT | &= 59.3 4 | 3 3
4 | 9 |ITVYT1TN— |FHE=S 57.7 3|4 4
5 FIWIRSAINRY | HE@EF— | 52.1 B | 5 w | 16
6 TVAINRA mHE 50.8 10 | 11 13
7 A —4 EE—B | 50.2

8 B VNZ—V ERE 46.6 13 | 15 15

S—F«q—dvk |EEX 46.3

:

JO0-Z)008>A 5= 45.7

[
o

R=UYI)%35 |fIHEEE | 45.4

=
=
=

10 | w 12

MMM M| m{ 0|0 |0 0O m

MM m "m0 | 0|0 0O m
o)
(o))
pis
pis
o)

I34b)—b AHIEE | 434

-

13 SYTINYT ERFEX 12
14 AF—ATI—) |BAEKX 13 10
15 FA4T4TU— EFEA 14 11
16 UP A thd i 16 14
thiRE
Eig 11 ¥310 5-11-12 ¥890
BE 11-12 ¥520 11-12-5 ¥4,080




C
L DIAVILAN— | FIEEE g —y 3
T XEFEZ i i
TINFIA SHREA B 5 | 5 | 4
Ry kLA ERE 50.1 NN 3 | 4 % | 5
TRJIJIZWIA |AHIEE | 49.6 D D| 4| 3 1
JUFIART—) | FHEF 484 |D D | 9 | 7 5
S AF-FIIFIT AREX| 423 | F | F | 7 | 9 7
BAIRIE F| F| 6|6 6

= HER F| F| 8|8 8

¥1,420 3L 3-7-9 ¥340

¥2,040 3z ERE ¥9,280




[ = = BBIa X = == N SE

6 |ryya— LRt 1|10 | % |5

CUNARINTL-2 M. Y | 57.5 4 | 3 6

N 711949 |#HEE| 56.7 | B|B | 2 | 2 8

7 R LZEE— | 520 |C |D| 7|5 x| 9

4 baVEIiv] Feda 50.1 |D| D | 6| 8 * | 4

E I73U—-3 FEEA 49.1 | D | D| 9|9 3

LU IvATAVND— (@R | 485 | E (D |56 | % 2

JSYBTAA— |FIEDA| 483 | E | E| 3 | 4 1

UYh4T> ST IH= 48.0 E E |8 | 7 7

10 t—F1-=>4 @E+#EsS | 410 | F | F | 11| 11 11

11 N—RA AT H5— E BN 12 | 10 12

a N —F—FIAR FREE 10 | 12 10
N

C 10 5-10-11 ¥55,870

EE 10-11 10-11-5 ¥251,960




E = o 35 S22 BBiIaaY | E = =2 [ B

1 Fry—IANO—-X |R. J7 TR e ——
2 JLyFv— FE 61.5 2 |2 10
3 S IRAEISAfV— (EBHEA | 571 | B | B | 9 | 5
4 | 1 |F2)905> ZE¥— | 55.2 ([ C I 3 | 3 9
H - R E R ERE
6 Svhi—-NO—X |SREAN| 535 [D | D | 5| 4 x| 2
7 PE|7-nke-uz [anmn | 483 | E I8 15|13 15
8 |10 [JVIY SMEE | 483 | E | E| 6 N 4
-l 7 iy, WIgR | 480 | E | E | 7 x| x| 3
10 P 3937700  |BEEX 46.3 | F | F | 10| 10 12
11 BN 5 =I5 XEHE2z| 458 | F | F | 8| 9 13
12 | RNV |ETEES = 11 15 14
13 BN R=J7> A4 EIREER 12 | 16 BH
14 BN OTRNSIYF« | FEE | 14 | 12 11
15| 9 (AWF=3VAlL |THEE 13 | 11 7
16 | 2 [BUYRIUZXA |ShFHETE | 16 | 14 8
IhRE
8 ¥190 [z 7-8-14 ¥5,250

8-14 ¥980 pmeiiil-] 8-14-7 ¥11,940




T T
L1L]

B —

Il
T

1 Bl 1-7A>JU—9 (R. 97 1] 2 2
2 05 # == 65.0 2 | 1 ol
3|1 K5y Wi+ | 53.5 | C | C | 3 | 4 7
4 AWPASYH— |EHEER | 48.1 | C | C | 7 | 6 * | 5
5 J59vv1—49— |EBEA | 475 |D D | 6 | 7 6
6 J1Ibho—3 =REAN| 463 | E | E| 4|5 10
Al 10 Palipadp M.3> | 459 | E | E| 9| 8 4
8 | 5 JRAEI7I=—t fIHZFE | 459 | E | E |8 |9 g
9 | - [F¥hHY F| E|5 |3 * | 3
10 ASYZTY F| F |10 10 8
Ih=E

4 4-6-9 ¥1,090

4-6 4-6-9 ¥3,510




.—.
i
]
L)
\h
e
1
&
Il
e |

1 AN R XBESZ i s il i |
2 | 1 |[II=a—- =)= 63.5 2 | 3 15
3 i 2 b {H#H%d | 604 | B | B | 3 | 4
4 SEYIRY—L |BEF— | 541 | C | D | 4| 2
5 FLoN WilEEg+ | 52.0 DN E | 5| 8 7
6 s 7 i 77, MEZFEE| 49.7 ' D | D 6|9 | % | *
7 L©YSTIRATVA | BEREAN | 48.5 ENNEN 8 | 11 12
8 SFI0—-1K— ty#R% | 476 | E | E | 12|10 16
9 |5 AANMRY SFiH = 46.6 | E | E |11 |12 8
10 AFvOvr R. 77 | 465 | F | F |10]| 6 13
11 EJINT AEZKX| 455 | F | E | 15| 15
12| 2 |1919ZF— o 445 | F | F * | %K
13| 9 |97>7491-) |HAHIEE 11
EH:H MIA—UF | EEA 13 7
15 JU—Ibov— |({EFF2A 14 14
16 | 10 |L—3N>Fvh  |IushigE 16 10
Ihims®
11 ¥190 2-7-11 ¥4,570
7-11 ¥610 11-7-2 ¥10,130




[T
1

Il
i

1 dA9YTZh> XBSZ i g i 3
2 BT bRA9— SEREA 2 | 3 | 4
3 SIR= R. 7F 621 B | B | 3 | 2 2
4 4OE—A Fos 558 ([ C|C | 4| 4 7
5 Yo ALYE ERE B C (C | 7 | 9 15
6 | 2 |[JA—EHIE— |ANEEMT| 536 |D D | 6|5 #
7 | 10 |S1VY4 AEZX| 509 |D | D 8 | 8 #
EHU:I—?ZH == | 477 BEE 5 |6
9 | 9 |¥YFPIXMS |FIHFE& | 47.0 | E | E | 13|10 10
En EV—Jk—2R FEiEER | 469 | F | E | 9| 7 5
11| 1 [YvF—3vJ M. 3 | 439 | F | F | 15|13 13
12 B IV Fh—1RT EHE 432 | F | E (10|12 12
13 i3 U199>hJ)F7 EHEES 11 | 11 8
14 | PASYF475  |@IRR 14| 14 14
15 ZAVE =V VIRE - Er 16 | 16 11
16 BENFUJO4IVR | ILEKE 12 | 15 16
Ihims®

3 ¥1,250 3-13-14 ¥3,880

3-14 ¥2,520 3-14-13 ¥35,190




